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Set array origin and fix seed for random # generator:

NUMBER OF PARTICLES:

INITIAL PARTICLE
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DEFINE UNIFORM
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DISTRIBUTION OF
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RANDOM OR UNIFORM
DISTRIBUTION:

Element check:

XpN = 0.259
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FOCUSING CONSTANT IN m#-1:

xp1 =0.192
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Xprandj = (-oernd(1) + ovrnd(1))
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stack(xpl,xpz) otherwise
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x(0) = Xoi
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Lox(2) =4y x(2) ~ kg x(2) - koz-&xmj X(2)

x'(0) = xpj

x(1,j) := Odesolve(z, 5)
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RMS_Enmitt := J X s -XP >~ XXPeorr” = 5.107x 10 °

Eff Emitt := 4-RMS_Emitt = 0.0204
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X ::—-E X(1,7,5-X) =-2.188x 10
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XP = —-E XP(1,j,5-2) =0.02
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Xrms2 = E'Z (X(1.j.52) - Xam)2 =0.025
J

XPpo = i-z (XP(1.j,5)) ~ Xpavez)2 =0.273
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XXPcorr2 = i ' {Z I:(X(l ,1,5:X) - Xave2)'(XP(1 35N = XPave2)]j| -
il

XXPcorr2 := 0

RMS_Emitt2 := J X ey XPo o — XXPoort2” = 6.861x 10

Eff Emitt2 := 4.-RMS_Emitt2 = 0.027



